
www.summersindustrial.com
800-634-6313        423-461-4700

N. FASTENERS
N.1.	 Anchors
	 N.1.1.	 Concrete Anchors
	 N.1.2.	 Drywall Anchors
	 N.1.3.	 Bent Anchor Bolts
	 N.1.4.	 Anchor Kits & Accessories
N.2.	 Bolts & Screws
	 N.2.1.	 Carriage Bolt
	 N.2.2.	 Eye Bolt
	 N.2.3.	 Plow Bolts
	 N.2.4.	 Stove Bolts
	 N.2.5.	 Hex Head
	 N.2.6.	 Socket Head
	 N.2.7.	 Flat Head
	 N.2.8.	 Button Head
	 N.2.9.	 Set Screw
	 N.2.10.	 Self-Tapping, Drywall,  
				    Wood & Sheet Metal
N.2.11.	 Lag Screw
	 N.2.12.	 Flat/Round Head Screw
	 N.2.13.	 U Bolts
	 N.2.14.	 Draw Bolt
N.3.	 Key Stock

N.4.	 Nails & Staples
	 N.4.1.	 Nails
	 N.4.2.	 Staples
N.5.	 Nuts
	 N.5.1.	 Hex Nuts
	 N.5.2.	 Lock Nuts
	 N.5.3.	 Wing Nuts
	 N.5.4.	 Tee Nut
N.6.	 Pins & Clips
N.7.	 Rivets  
N.8.	 Threaded Rod , Couplers & Hangers
	 N.8.1.	 Threaded Rod	
	 N.8.2.	 Coupling Nuts
	 N.8.3.	 Hangers
N.9.	 Washers
	 N.9.1.	 Flat Washers
	 N.9.2.	 Lock Washers
	 N.9.3.	 Fender Washers
N.10.	 Thread Insert & Repair



DROP IN ANCHOR SETTING TOOL
Part#	 MFG#	 Size
10004398	 70212	 3/8”
10004395	 70214	 1/2”

ANCHOR HAMMER DRIVE 1/4” X 1” W/ ZP 
NAIL
1/4”x1” Hammer Drive Anchor Mushroom Head Zinc Alloy 
with Zinc Plated Steel Nail
10004732	 2340-2416-401

DROP IN ANCHOR
Part#	 MFG#	 Size
10004735	 6925	 1/4”-20
10004736	 43005 (6337	 3/8”-16
10004737	 6350 (43007) (1312)	 1/2”-13

WEDGE ANCHOR, ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10014629	 02315-2422-401	 1/4”-20	 1-3/4”
10009914	 02315-2425-401 WS-1422	 1/4”-20	 2-1/4”
10009915	 279030	 1/4”-20	 3-1/4”
10014630	 02315-2625-401	 3/8”-16	 2-1/4”
10014631	 02315-2627-401	 3/8”-16	 2-3/4”
10014632	 02315-2630-401	 3/8”-16	 3”
10009918	 157090	 3/8”-16	 3-3/4”
10009917	 157100	 3/8”-16	 5”
10009919	 02315-2827-401 WS-1226	 1/2”-13	 2-3/4”
10009920	 02315-2833-401 WS-1236	 1/2”-13	 3-3/4”
10009922	 157200-P1  02315-2841-40	 1/2”-13	 4-1/4”
10009921	 02315-2842-401 WS-1244	 1/2”-13	 4-1/2”
10009923	 279140	 1/2”-13	 5-1/2”
10009902	 02315-2862-401 WS-1270	 1/2”-13	 7”
10009924	 02315-3032-401 WS-5834	 5/8”-11	 3-1/2”
10014633	 279200	 5/8”-11	 4-1/2”
10009925	 157320	 5/8”-11	 5”
10009926	 02315-3060-401 WS-5860	 5/8”-11	 6”
10014634	 157340	 5/8”-11	 7”
10014635	 02315-3065-401	 5/8”-11	 8-1/2”
10009927	 157380	 3/4”-10	 4-1/4”
10009928	 02315-3243-401 WS-3446	 3/4”-10	 4-3/4”
10009929	 02315-3252-401 WS-3454	 3/4”-10	 5-1/2”
10014636	 02315-3261-401	 3/4”-10	 6-1/4”
10009930	 44046	 3/4”-10	 7”
10014637	 02315-3460-401	 7/8”-9	 6”
10014638	 02315-3464-401	 7/8”-9	 8”
10014639	 02315-3468-401	 7/8”-9	 10”
10014640	 44060	 1”-8	 9”
10014641	 02315-4072-401	 1”-8	 12”

N.1.	 Anchors
N.1.1.	 Concrete Anchors

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.1.1.1



DRILL F/ CONCRETE SCREW 5/32” X 5-1/2” 
F/3/16”
5/32”x5 1/2” Concrete Screw Bits Plain
10004617	 02335-2052-500

DRILL F/ CONCRETE SCREW 3/16” X 5-1/2” 
F/1/4”
3/16”x5 1/2” Concrete Screw Bits Plain
10004616	 R62001

TAPCON CONCRETE SCREW, TAPPING HEX HEAD, 
BOX = 100
Part#	 MFG#	 Diameter	 Length
10004618	 02333-2318-408 HW3-114	 3/16”	 1-1/4”
10004619	 02333-2322-408 HW3-134	 3/16”	 1-3/4”
10004620	 02333-2325-408 HW3-214	 3/16”	 2-1/4”
10004626	 02333-2327-408 HW3-234	 3/16”	 2-3/4”
10014642	 02333-2331-408	 3/16”	 3-1/4”
10004621	 96488	 1/4”	 1-1/4”
10004622	 96490	 1/4”	 1-3/4”
10004623	 660060	 1/4”	 2-1/4”
10004624	 02333-2427-408HW4-234	 1/4”	 2-3/4”
10004625	 02333-2431-408 HW4-314	 1/4”	 3-1/4”
10014643	 02333-2440-408	 1/4”	 4”

TOGGLE BOLT, ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10004640	 463-2030-401	 1/8”	 3”
10004641	 96422	 3/16”	 3”
10004642	 004162340-401	 3/16”	 4”
10004643	 416-2430-401	 1/4”	 3”
10004644	 416-2440-401	 1/4”	 4”
10004645	 F33063	 1/4”	 6”
10004646	 416-2540-411	 5/16”	 4”
10004647	 416-2550-411	 5/16”	 5”
10004648	 416-2630-411	 3/8”	 3”
10004649	 26037	 3/8”	 4”
10004650	 27670	 3/8”	 6”

N.1.2.	 Drywall Anchors

ANCHOR DRYWALL ZINC EZ SCREW-IN
E-Z Ancor self-drilling drywall anchors for mounting fixtures 
and shelving to gypsum wallboard. Corrosion-resistant zinc 
construction. 100 per box.
10009934	 25316  EZ100

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.1.2.1



BOLT FOUNDATION ANCHOR 1/2” X 8” W/ 
NUT & WSHR
1/2”x8”x1 1/4”x1 3/4” L Shaped Anchor Bolt W/Nut/
Washer Plain
10004651	 180-2864-400

ANCHOR DRYWALL ZINC EZ SCREW W/
SCREWS PK=25
E-Z Anchor Kit, Kit Contain 25 Zinc Anchors / 25 screws, 
#8-1-1/4” Sheet Metal Screw
10009935	 EZ25

WALL ANCHOR KIT, CONICAL
Part#	 MFG#	 Drill Size	 Screw Size	 Anchor Size
10013017	 8709E(MK12)PANHD	 3/16” x 4”	 8 x 1”	 8-10 x 7/8”
10013018	 8711E(MK12A)PANH	 1/4” x 4”	 10 x 1”	 10-12 x 1”
10013019	 8614E(MK14)PANHD	 5/16” x 4”	 14 x 1-1/2”	 14-16 x 1-1/2”

ANCHOR DRYWALL NYLON ZIP-IT W/SCREWS 
BX=50
Zip-It wall anchor kit for use in drywall applications. Nylon 
construction. Includes (50) anchors and (50) 1 panhead 
combo tapping screws.
10004734	 2368

TOGGLE BOLT, ZINC PLATED
Part#	 MFG#	 Size	 Hole Size
10004727	 70559196432	 #8-10	 3/16”
10004728	 29006	 #10-12	 1/4”
10004729	 29008	 #14-16	 5/16”

ANCHOR DRYWALL NYLON ZIP-IT W/ TOOL 
BX=100
Zip-It nylon anchor for use with #8 screw size.
10004733	 24002 (2345)

1/8” WALL ANCHOR W/ MACHINE SCREW,  
BOX =100
Part#	 MFG#	 Wall Thickness
10004730	 41004 (4SRH)	 3/8” - 1/2”
10004731	 41006 (0122)	 5/8” - 1”

N.1.3.	 Bent Anchor Bolts

N.1.4.	 Anchor Kits & Accessories

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.1.4.1



ANCHOR KIT 5/16” MASONRY W/ 14 X 
1-1/2” HHSMS
Blue Conical Plastic Anchor Kits, 14-16 x 1-1/2” Anchor
10013020	 8714E HEXHEAD

CARRIAGE BOLT GRADE A ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10004489	 00100-2416-401	 1/4”-20	 1”
10004490	 00100-2420-401	 1/4”-20	 1-1/2”
10004491	 00100-2424-401	 1/4”-20	 2”
10004492	 00100-2426-401	 1/4”-20	 2-1/2”
10004493	 00100-2432-401	 1/4”-20	 3-1/2”
10004494	 00100-2442-401	 1/4”-20	 4-1/2”
10004495	 00100-2450-401	 1/4”-20	 5”
10004496	 00100-2460-401	 1/4”-20	 6”
10004497	 00100-2516-401	 5/16”-18	 1”
10004498	 00100-2524-401	 5/16”-18	 2”
10004499	 00100-2526-401	 5/16”-18	 2-1/2”
10004500	 00100-2530-401	 5/16”-18	 3”
10004503	 00100-2542-401	 5/16”-18	 4-1/2”
10004504	 00100-2616-401	 3/8”-16	 1”
10004505	 489072	 3/8”-16	 1-1/2”
10004506	 00100-2624-401	 3/8”-16	 2”
10004507	 489078	 3/8”-16	 3”
10004509	 00100-2640-401	 3/8”-16	 4”
10004510	 00100-2650-401	 3/8”-16	 5”
10004511	 00100-2652-401	 3/8”-16	 5-1/2”
10004512	 00100-2666-401	 3/8”-16	 9”
10004513	 00100-2668-401	 3/8”-16	 10”
10004479	 00100-2824-401	 1/2”-13	 2”
10004480	 00100-2840-401	 1/2”-13	 4”
10004481	 00100-2862-401	 1/2”-13	 7”
10004482	 00100-2864-401	 1/2”-13	 8”
10004484	 16180	 1/2”-13	 9”
10004485	 100-2868-401	 1/2”-13	 10”
10004486	 100-2870-401	 1/2”-13	 11”
10004487	 100-2872-401	 1/2”-13	 12”
10004488	 100-2874-401	 1/2”-13	 14”

N.2.	 Bolts & Screws
N.2.1.	 Carriage Bolt

N.2.2.	 Eye Bolt
BOLT EYE MACHINERY 3/8” -16 X 1-1/4” 
SHK FRGD
Shoulder Plain Eye Bolt, 3/8”-16 Thread Size
10005786	 SF50-006

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.2.2.1



STOVE BOLT, ROUND HEAD SLOTTED, ZINC 
PLATED
Part#	 MFG#	 Diameter	 Length
10004611	 00419-1012-401	 3/16”	 3/4”
10004612	 00419-1016-401	 3/16”	 1”
10004613	 00419-1020-401	 3/16”	 1-1/2”
10004614	 00419-1030-401	 3/16”	 3”
10004627	 00419-2408-401	 1/4”	 1/2”
10004628	 00419-2412-401	 1/4”	 3/4”
10004629	 00419-2416-401	 1/4”	 1”
10004630	 00419-2418-401	 1/4”	 1-1/4”
10004631	 00419-2420-401	 1/4”	 1-1/2”
10004632	 00419-2426-401	 1/4”	 2-1/2”
10004633	 00419-2432-401	 1/4”	 3-1/2”

BOLT EYE 3/8” X 4” W/NUT
Eye bolt with nut. US2C finish. 2-1/8” thread length. 7/8 
inside eye dia. 3/8” x 4 size.
10006186	 21044

BOLT EYE LAG US2C 1/4”X3-3/4”
Lag eye bolt for use in exterior and interior applications. 
Features sharp point. Zinc plated finish. Rust-resistant. 
1/4” dia. x 3-3/4 L.
10004652	 21108  13-0400

STOVE BOLT, FLAT HEAD SLOTTED, ZINC 
PLATED
Part#	 MFG#	 Diameter	 Length
10004634	 409-1016-401	 3/16”	 1”
10004636	 00409-2412-401	 1/4”	 3/4”
10004637	 00409-2418-401	 1/4”	 1-1/4”
10004638	 409-2430-401	 1/4”	 3”

EYE BOLT WITH HEX NUT, ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10006180	 14X4EB  (210340)	 1/4”	 4”
10006181	 20090   13-0230	 5/16”	 3-1/4”
10004653	 20092  13-0250	 5/16”	 4”
10006182	 20096    13-0260	 5/16”	 6”
10006178	 21028    13-0165	 1/4”	 2”
10006179	 21032    13-0191	 1/4”	 3”
10006187	 21048    13-0290	 3/8”	 6”
10006188	 21050   13-0350	 1/2”	 6”

N.2.4.	 Stove Bolts

MACHINERY EYE BOLT, STANDARD SHANK, 
FORGED
Part#	 MFG#	 Diameter	 Length
10005787	 12885-8 #25	 1/2”-13	 1-1/2”
10005788	 12925-1 #27	 5/8”-11	 1-3/4”
10005789	 12948-0 #28	 3/4”-10	 2”
10005792	 12968-8 #29	 7/8”-9	 2-1/4”
10005791	 12988-6 #30	 1”-8	 2-1/2”

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.2.4.1



HEX HEAD MACHINE BOLT, GRADE 2, ZINC 
PLATED
Part#	 MFG#	 Diameter	 Length
10004431	 00026-2416-401	 1/4”-20	 1”
10004432	 00026-2420-401	 1/4”-20	 1-1/2”
10004433	 00026-2424-401	 1/4”-20	 2”
10004434	 00026-2426-401	 1/4”-20	 2-1/2”
10004435	 00026-2432-401	 1/4”-20	 3-1/2”
10004437	 00026-2524-401	 5/16”-18	 2”
10004438	 00026-2532-401	 5/16”-18	 3-1/2”
10004439	 00026-2550-401	 5/16”-18	 5”
10004440	 00026-2616-401	 3/8”-16	 1”
10004441	 00026-2620-401	 3/8”-16	 1-1/2”
10004442	 00026-2624-401	 3/8”-16	 2”
10004443	 00026-2642-401	 3/8”-16	 4-1/2”
10004444	 00026-2650-401	 3/8”-16	 5”
10004445	 00026-2662-401	 3/8”-16	 7”
10004446	 00026-2664-401	 3/8”-16	 8”
10004447	 00026-2668-400	 3/8”-16	 10”
10004448	 00026-2672-401	 3/8”-16	 12”
10004450	 00026-2760-401	 7/16”-14	 6”
10004451	 00026-2820-401	 1/2”-13	 1-1/2”
10004452	 00026-2824-401	 1/2”-13	 2”
10004453	 00026-2830-401	 1/2”-13	 3”
10004454	 00026-2832-401	 1/2”-13	 3-1/2”
10004455	 00026-2840-401	 1/2”-13	 4”
10004457	 00026-2850-401	 1/2”-13	 5”
10004458	 00026-2864-401	 1/2”-13	 8”
10004459	 00026-3020-401	 5/8”-11	 1-1/2”
10004460	 00026-3024-401	 5/8”-11	 2”
10004461	 00026-3026-401	 5/8”-11	 2-1/2”
10004462	 00026-3030-401	 5/8”-11	 3”
10004463	 00026-3042-401	 5/8”-11	 4-1/2”
10004464	 00026-3060-401	 5/8”-11	 6”
10004465	 00026-3064-401	 5/8”-11	 8”
10004466	 00026-3068-400	 5/8”-11	 10”
10004467	 00026-3072-400	 5/8”-11	 12”
10004426	 00026-3220-400	 3/4”-10	 1-1/2”
10004427	 00026-3224-401	 3/4”-10	 2”
10004428	 493189	 3/4”-10	 2-1/2”
10004429	 00026-3230-400	 3/4”-10	 3”
10004430	 00026-3242-000	 3/4”-10	 4-1/2”

N.2.5.	 Hex Head

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.2.5.1



HEX HEAD MACHINE BOLT, GRADE 5, ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10009797	 847002	 1/4”-20	 1/2”
10009798	 847006	 1/4”-20	 3/4”
10009799	 847010	 1/4”-20	 1”
10009800	 847012	 1/4”-20	 1-1/4”
10009801	 847014	 1/4”-20	 1-1/2”
10009802	 847018	 1/4”-20	 2”
10009803	 00050-2426-401	 1/4”-20	 2-1/2”
10009804	 00050-2430-401	 1/4”-20	 3”
10009805	 847030	 1/4”-20	 4”
10004424	 00050-2508-401	 5/16”-18	 1/2”
10009806	 847074	 5/16”-18	 3/4”
10009807	 847078	 5/16”-18	 1”
10009808	 847080	 5/16”-18	 1-1/4”
10009809	 847082	 5/16”-18	 1-1/2”
10009810	 00050-2524-401	 5/16”-18	 2”
10009811	 847090	 5/16”-18	 2-1/2”
10009812	 847094	 5/16”-18	 3”
10009813	 00050-2540-401	 5/16”-18	 4”
10009814	 847134	 3/8”-16	 3/4”
10009815	 847138	 3/8”-16	 1”
10009816	 847140	 3/8”-16	 1-1/4”
10009817	 847142	 3/8”-16	 1-1/2”
10009818	 00050-2622-401	 3/8”-16	 1-3/4”
10009882	 00051-2624-401	 3/8”-16	 2”
10009819	 847146	 3/8”-16	 2”
10009820	 00050-2626-401	 3/8”-16	 2-1/2”
10009821	 847154-P1  00050-2630-40	 3/8”-16	 3”
10009822	 847158	 3/8”-16	 3-1/2”
10009823	 847162	 3/8”-16	 4”
10009824	 847166	 3/8”-16	 5”
10009825	 00050-  GRADE 5	 3/8”-16	 6-1/2”
10009826	 847218	 7/16”-14	 1”
10009827	 00050-2720-401	 7/16”-14	 1-1/2”
10009828	 847226	 7/16”-14	 2”
10009829	 00050-2726-401	 7/16”-14	 2-1/2”
10009830	 847234	 7/16”-14	 3”
10009831	 847242	 7/16”-14	 4”
10009832	 00050-2742-401	 7/16”-14	 4-1/2”
10009883	 00051-2730-401	 7/16”-20	 3”
10009833	 847294	 1/2”-13	 1”
10009835	 847298	 1/2”-13	 1-1/2”
10009836	 847302	 1/2”-13	 2”
10009837	 847306	 1/2”-13	 2-1/2”
10009839	 847314	 1/2”-13	 3-1/2”
10009840	 847318	 1/2”-13	 4”
10009841	 847320	 1/2”-13	 4-1/2”
10009842	 847322	 1/2”-13	 5”
10009834	 00050-2818-401	 1/2”-13	 1-1/4”
10009838	 00050-2830-401	 1/2”-13	 3”
10009843	 00050-2860-401	 1/2”-13	 6”
10009884	 00051-2820-401	 1/2”-20	 1-1/2”
10009885	 00051-2824-401	 1/2”-20	 2”
10009844	 00050-2924-401	 9/16”-12	 2”
10009886	 00051-2926-401	 9/16”-18	 2-1/2”
10009845	 847426	 5/8”-11	 1-1/4”
Continued next page

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.2.5.2



10009846	 847428	 5/8”-11	 1-1/2”
10009848	 847436	 5/8”-11	 2-1/2”
10009849	 847440	 5/8”-11	 3”
10009853	 847450	 5/8”-11	 5”
10009847	 00050-3024-401	 5/8”-11	 2”
10009850	 00050-3032-401	 5/8”-11	 3-1/2”
10009851	 00050-3040-401	 5/8”-11	 4”
10009852	 00050-3042-401	 5/8”-11	 4-1/2”
10009855	 00050-3064-401	 5/8”-11	 8”
10004425	 50-3016-401	 5/8”-11	 1”
10009856	 50-3060-401	 5/8”-11	 6”
10009854	 	 5/8”-11	 11”
10009857	 847508	 3/4”-10	 2”
10009860	 847520	 3/4”-10	 3-1/2”
10009861	 847524	 3/4”-10	 4”
10009862	 847526	 3/4”-10	 4-1/2”
10009863	 847528	 3/4”-10	 5”
10009858	 00050-3226-401	 3/4”-10	 2-1/2”
10009859	 00050-3230-401	 3/4”-10	 3”
10009864	 00050-3260-401	 3/4”-10	 6”
10009865	 847588	 7/8”-9	 3”
10009869	 00050-4040-401	 1”-8	 4”
10009870	 00050-4060-401	 1”-8	 6”
10009867	 0050-4024-401	 1”-8	 2”
10009868	 	 1”-8	 3”

HEX HEAD MACHINE BOLT, GRADE 5, ZINC PLATED
Continued from previous page

Continued next page

HEX HEAD MACHINE BOLT, GRADE 8, ZINC 
PLATED
Part#	 MFG#	 Diameter	 Length
10013625	 00080-2408-402	 1/4”-20	 1/2”
10013624	 80-2412-402	 1/4”-20	 3/4”
10013623	 455010	 1/4”-20	 1”
10013622	 455012	 1/4”-20	 1-1/4”
10013621	 454014	 1/4”-20	 1-1/2”
10013620	 80-2424-402	 1/4”-20	 2”
10003651	 80-2425-402	 1/4”-20	 2-1/4”
10013619	 80-2426-402	 1/4”-20	 2-1/2”
10003645	 80-2508-402	 5/16”-18	 1/2”
10013613	 80-2512-402	 5/16”-18	 3/4”
10013612	 80-2516-402	 5/16”-18	 1”
10013611	 455080	 5/16”-18	 1-1/4”
10013610	 80-2520-402	 5/16”-18	 1-1/2”
10013609	 80-2522-402	 5/16”-18	 1-3/4”
10013608	 00080-2524-402	 5/16”-18	 2”
10013607	 80-2526-402	 5/16”-18	 2-1/2”
10013606	 80-2530-402	 5/16”-18	 3”
10013605	 80-2612-402	 3/8”-16	 3/4”
10013604	 80-2616-402	 3/8”-16	 1”
10003644	 80-2618-402	 3/8”-16	 1-1/4”
10013603	 455142	 3/8”-16	 1-1/2”
10013602	 80-2622-402	 3/8”-16	 1-3/4”
10013601	 80-2624-402	 3/8”-16	 2”
10013600	 80-2625-402	 3/8”-16	 2-1/4”

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.2.5.3



SOCKET HEAD CAP SCREW, BLACK OXIDE 
BOX=100
Part#	 MFG#	 Diameter	 Length
10004775	 11055	 #6-32	 3/8”
10004776	 11061	 #6-32	 3/4”
10004777	 11079	 #8-32	 3/8”
10004768	 11081	 #8-32	 1/2”
10010897	 11103	 #10-24	 1/2”
10010915	 11107	 #10-24	 3/4”
10010922	 11111	 #10-24	 1”
10010935	 11113	 #10-24	 1-1/4”
10010933	 11115	 #10-24	 1-1/2”
10010936	 11119	 #10-24	 2”
10010892	 11121	 #10-32	 3/8”
10010893	 11123	 #10-32	 1/2”
10010999	 11127	 #10-32	 3/4”
10010894	 11131	 #10-32	 1”
10011002	 11139	 #10-32	 2”
10010957	 11145	 1/4”-20	 1/2”
10010958	 11147	 1/4”-20	 5/8”
10010967	 11149	 1/4”-20	 3/4”
10010975	 11153	 1/4”-20	 1”
10004769	 11155	 1/4”-20	 1-1/4”
10010993	 11157	 1/4”-20	 1-1/2”

N.2.6.	 Socket Head

10013599	 80-2626-402	 3/8”-16	 2-1/2”
10013598	 80-2627-402	 3/8”-16	 2-3/4”
10013597	 80-2630-402	 3/8”-16	 3”
10013596	 80-2640-402	 3/8”-16	 4”
10003650	 80-2716-402	 7/16”-14	 1”
10013618	 80-2718-402	 7/16”-14	 1-1/4”
10003649	 80-2722-402	 7/16”-14	 1-3/4”
10013617	 80-2724-402	 7/16”-14	 2”
10013616	 80-2726-402	 7/16”-14	 2-1/2”
10003648	 80-2730-402	 7/16”-14	 3”
10013615	 80-2732-402	 7/16”-14	 3-1/2”
10013580	 80-2816-402	 1/2”-13	 1”
10013579	 0625-4634	 1/2”-13	 1-1/4”
10013581	 13116	 1/2”-13	 1-1/2”
10013578	 80-2824-402	 1/2”-13	 2”
10013577	 080-2826-402	 1/2”-13	 2-1/2”
10013576	 80-2830-402	 1/2”-13	 3”
10013575	 80-2832-402	 1/2”-13	 3-1/2”
10013574	 455318	 1/2”-13	 4”
10003643	 080-2940-402	 9/16”-12	 4”
10013462	 80-3020-402	 5/8”-11	 1-1/2”
10013461	 0080-3024-402	 5/8”-11	 2”
10013460	 80-3026-402	 5/8”-11	 2-1/2”
10013459	 455440	 5/8”-11	 3”
10013464	 80-3032-402	 5/8”-11	 3-1/2”
10013458	 80-3040-402	 5/8”-11	 4”

HEX HEAD MACHINE BOLT, GRADE 8, ZINC PLATED
Continued from previous page

Continued next page

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.2.6.1



Continued next page

SOCKET HEAD CAP SCREW, BLACK OXIDE 
BOX=100
Continued from previous page
10010997	 11159	 1/4”-20	 1-3/4”
10010998	 11161	 1/4”-20	 2”
10011005	 11163	 1/4”-20	 2-1/4”
10011006	 11165	 1/4”-20	 2-1/2”
10011007	 11169	 1/4”-20	 3”
10011000	 11173	 1/4”-28	 1/2”
10011001	 11177	 1/4”-28	 3/4”
10011003	 11181	 1/4”-28	 1”
10011004	 11185	 1/4”-28	 1-1/2”
10011010	 11195	 5/16”-18	 1/2”
10004770	 11199	 5/16”-18	 3/4”
10011032	 11203	 5/16”-18	 1”
10011047	 11205	 5/16”-18	 1-1/4”
10011055	 11207	 5/16”-18	 1-1/2”
10011069	 11211	 5/16”-18	 2”
10007879	 11219	 5/16”-18	 3”
10011059	 11237	 5/16”-24	 1-1/2”
10011080	 11247	 3/8”-16	 1/2”
10011082	 11251	 3/8”-16	 3/4”
10011091	 11255	 3/8”-16	 1”
10011116	 11257	 3/8”-16	 1-1/4”
10011122	 11259	 3/8”-16	 1-1/2”
10011137	 11261	 3/8”-16	 1-3/4”
10011138	 11263	 3/8”-16	 2”
10011139	 11265	 3/8”-16	 2-1/4”
10011146	 11267	 3/8”-16	 2-1/2”
10011147	 11269	 3/8”-16	 2-3/4”
10011157	 11271	 3/8”-16	 3”
10011162	 11275	 3/8”-16	 3-1/2”
10011163	 11277	 3/8”-16	 4”
10011167	 11282	 3/8”-16	 6”
10011165	 11315	 7/16”-14	 1”
10004771	 11319	 7/16”-14	 1-1/2”
10011189	 11355	 1/2”-13	 1”
10004772	 11357	 1/2”-13	 1-1/4”
10011190	 11359	 1/2”-13	 1-1/2”
10011191	 11361	 1/2”-13	 1-3/4”
10004773	 11363	 1/2”-13	 2”
10011192	 11365	 1/2”-13	 2-1/4”
10011193	 11367	 1/2”-13	 2-1/2”
10004774	 11371	 1/2”-13	 3”
10011194	 11375	 1/2”-13	 3-1/2”
10011195	 11377	 1/2”-13	 4”
10011196	 11379	 1/2”-13	 4-1/2”
10011197	 11385	 1/2”-13	 6”
10007880	 11409	 5/8”-11	 1”
10011199	 11411	 5/8”-11	 1-1/4”
10011200	 11413	 5/8”-11	 1-1/2”
10011201	 11415	 5/8”-11	 1-3/4”
10014326	 11417	 5/8”-11	 2”
10014322	 11419	 5/8”-11	 2-1/4”
10014327	 11421	 5/8”-11	 2-1/2”
10014328	 11423	 5/8”-11	 2-3/4”

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.2.6.2



FLAT HEAD SOCKET CAP SCREW, BLACK 
OXIDE BOX=100
Part#	 MFG#	 Diameter	 Length
10011252	 211067	 #10-24	 3/4”
10011250	 211077	 #10-32	 1/2”
10011251	 211081	 #10-32	 3/4”
10011256	 211105	 1/4”-20	 1/2”
10011255	 211109	 1/4”-20	 3/4”
10011263	 211111	 1/4”-20	 1”
10011257	 211113	 1/4”-20	 1-1/4”
10011258	 211115	 1/4”-20	 1-1/2”
10011266	 211161	 5/16”-18	 3/4”
10011259	 211163	 5/16”-18	 1”
10011260	 211165	 5/16”-18	 1-1/4”
10011261	 211211	 3/8”-16	 1”
10011262	 211305	 1/2”-13	 3”

SCREW CAP BTN HD SOC HD 1/4”-20 X 3/4”
1/4”-20x3/4” (FT) Button Socket Caps Coarse Alloy  
Thermal Black Oxide
10013456	 201099

N.2.7.	 Flat Head

N.2.8.	 Button Head

10014329	 11425	 5/8”-11	 3”
10014330	 11427	 5/8”-11	 3-1/4”
10014332	 11429	 5/8”-11	 3-1/2”
10014331	 581653	 5/8”-11	 3-3/4”
10011215	 11431	 5/8”-11	 4”
10014333	 11433	 5/8”-11	 4-1/2”
10014334	 11435	 5/8”-11	 5”
10014335	 11437	 5/8”-11	 5-1/2”
10014336	 11441	 5/8”-11	 6-1/2”
10014337	 11443	 5/8”-11	 7”
10014338	 581655	 5/8”-11	 7-1/2”
10014339	 11445	 5/8”-11	 8”
10014340	 581657	 5/8”-11	 8-1/2”
10014341	 581659	 5/8”-11	 9”
10014342	 581661	 5/8”-11	 9-1/2”
10014343	 581663	 5/8”-11	 10”
10014344	 581665	 5/8”-11	 11”
10014347	 581667	 5/8”-11	 12”
10014345	 581669	 5/8”-11	 14”
10014346	 581670	 5/8”-11	 15”
10014317	 11461	 3/4”-10	 1-1/2”
10014316	 11467	 3/4”-10	 2-1/4”
10011222	 11469	 3/4”-10	 2-1/2”
10014312	 11473	 3/4”-10	 3”

SOCKET HEAD CAP SCREW, BLACK OXIDE 
BOX=100
Continued from previous page

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.2.8.1



SOCKET SET SCREWS CUP POINT, BLACK 
OXIDE BOX=100
Part#	 MFG#	 Diameter	 Length
10004827	 101259	 #10-24	 1/2”
10011323	 101271	 #10-32	 3/16”
10011324	 101273	 #10-32	 1/4”
10011325	 101281	 #10-32	 1/2”
10011328	 101309	 1/4”-20	 1/4”
10011329	 101313	 1/4”-20	 3/8”
10011330	 101317	 1/4”-20	 1/2”
10011331	 101321	 1/4”-20	 3/4”
10011326	 101337	 1/4”-28	 1/4”
10011327	 101341	 1/4”-28	 3/8”
10011332	 101383	 5/16”-18	 3/8”
10011333	 101387	 5/16”-18	 1/2”
10011334	 101391	 5/16”-18	 3/4”
10011335	 101403	 5/16”-18	 2”
10011336	 101449	 3/8”-16	 3/8”
10011337	 101453	 3/8”-16	 1/2”
10011338	 101457	 3/8”-16	 3/4”
10011339	 101461	 3/8”-16	 1”
10011344	 101575	 1/2”-13	 1”

N.2.9.	 Set Screw

SCREW DRYWALL CRSE #6 X 1-1/4” 
BX=8000
6 x 1-1/4” Phillips Bugle Head
10004601	 614C

SCREW DRYWALL CRSE #6 X 2” BX=3500
#6-9x2” Proferred Drywall Screws
10004603	 02790-0624-020      620C

DRYWALL SCREW, COARSE
Part#	 MFG#	 Diameter	 Length	 Pack Size
10004602	 636356	 #6	 1-5/8”	 BOX=5000
10004605	 691331	 #8	 3”	 BOX=2000

SCREW DRYWALL FINE #6 X 1-1/4”
Phillip Black FineThread Drywall Screw, #6 x 1-1/4”
10004607	 70559196156 (114DSJ   03

N.2.10.	 Self-Tapping, Drywall, Wood & Sheet Metal

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.2.10.1



SCREW TAP HEX WSHR HD #10 X 3/4” SLT 
ZP
#10-16x3/4” Indent Hex Washer Head Slotted Tapping 
Screws Type Ab Zinc CR+3”
10004589	 697476

PHILLIPS FLAT HEAD WOOD SCREW, ZINC 
PLATED
Part#	 MFG#	 Diameter	 Length
10004547	 00501-0608-401	 #6	 1/2”
10004548	 00501-0812-401	 #8	 3/4”
10004549	 00501-0816-401	 #8	 1”
10004551	 00501-0818-401	 #8	 1-1/4”
10004552	 00501-0820-401	 #8	 1-1/2”
10004550	 00501-1016-401	 #10	 1”
10004553	 00501-1020-401	 #10	 1-1/2”
10004554	 00501-1024-401	 #10	 2”
10004558	 10X312FHGPWSZ	 #10	 3-1/2”

DRYWALL SCREW, FINE
Part#	 MFG#	 Diameter	 Length
10004610	 691511	 #6	 1”
10004608	 691516	 #6	 1-5/8”
10004609	 691521	 #6	 2”
10004599	 691725	 #8	 2-1/2”

SHEET METAL SCREW, PHILLIPS/SLOTTED 
COMBO, ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10004559	 00638-0608-401	 #6	 1/2”
10004561	 00638-0812-401	 #8	 3/4”
10004562	 00638-0816-401	 #8	 1”
10004563	 00638-0818-401	 #8	 1-1/4”
10004565	 00638-1012-401	 #10	 3/4”
10004566	 00638-1016-401	 #10	 1”
10004567	 00638-1020-401	 #10	 1-1/2”
10004568	 00638-1212-401	 #12	 3/4”
10004569	 00630-1216-401	 #12	 1”

SCREW DRYWALL FINE #8 X 3”
Phillips bugle head drywall screw. Fine point. #8-15 thread 
x 3” L.
10004600	   3DSFTJ

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.2.10.2



TAPPING SCREW, SLOTTED WITH INDENT HEX 
WASHER HEAD, ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10004574	 680-0608-401	 #6	 1/2”
10004573	 680-0612-401	 #6	 3/4”
10004575	 680-0616-401	 #6	 1”
10004584	 00680-0808-401	 #8	 1/2”
10004585	 00680-0812-401	 #8	 3/4”
10004586	 00680-0816-401	 #8	 1”
10004587	 00680-0820-401	 #8	 1-1/2”
10004588	 680-1008-401	 #10	 1/2”
10004590	 00680-1016-401	 #10	 1”
10004591	 00680-1020-401	 #10	 1-1/2”
10000268	 00680-1212-401	 #12	 3/4”
10004594	 00680-1216-401	 #12	 1”
10004595	 00680-1220-401	 #12	 1-1/2”
10004596	 680-1224-401	 #12	 2”

SCREW TAP HEX WSHR HD #14 X 3/4” SLT 
ZP
Slotted tapping screw with indent hex washer head. Blue 
zinc finish. #14 thread x 3/4” AB size.
10004597	 1449

TAPPING SCREW, TEK HEX WASHER HEAD, 
ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10004576	 8X34HTJ	 #8	 3/4” 
10004577	 8X1HJ  	 #8	 1”
10004578	 70559196188	 #10	 1/2”
10004579	 70559196190	 #10	 3/4”
10004580	 10X1HTJ 	 #10	 1”
10004581	 12X34HTJ  	 #12	 3/4”
10004592	 14X34HTJ	 #14	 3/4”

WOOD SCREW, PHILLIPS FLAT HEAD, ZINC 
PLATED
Part#	 MFG#	 Diameter	 Length
10004557	 501-0826-401	 #8	 2-1/2”
10004555	 501-1218-401	 #12	 1-1/4”
10004556	 501-1230-401	 #12	 3”

SCREW DRILL/TAP TEK #12 X 1”HEX WSHR 
HD
Self-drill screw with hex washer head. Zinc plated finish. #3 
point. 5/16” head. 12 x 1 size.
10004582	 3062

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.2.10.3



SPEE-D TAPPING SCREW, SLOTTED  1/4” HEX 
WASHER HEAD, ZINC PLATED
Part#	 MFG#	 Diameter	 Length	 Pack Size
10004572	 1522	 #8	 3/4”	 100
10004571	 1594	 #8	 3/4”	 1000

SHEET METAL SCREW, PHILLIPS/SLOTTED 
COMBO PAN HEAD
Part#	 MFG#	 Diameter	 Length
10004560	 70559196042  00638-0808-	 #8	 1/2”
10004564	 10X12PHCTSZ1	 #8	 1/2”

SHIELD LAG SHORT 3/8” X 1-3/4” USE 5/8” 
DRILL
3/8” Shortx1 3/4” Lag Screw Expansion Shields Anchor 
Short Zinc Alloy
10004544	 02346-2622-400

SHIELD LAG SHORT 1/2” X 2” USE 3/4” 
DRILL
1/2” Shortx2” Lag Screw Expansion Shields Anchor Short 
Zinc Alloy
10004545	 2346-2824-400

SCREW DRILL/TAP TEK #14 X 1” HEX WSHR 
HD
Hex Washer Head, Self Drill Screw Zinc, #14 x 1” (#3 Pt. 
3/8” Hd.)
10004593	 3073

N.2.11.	 Lag Screw

SCREW DRILL/TAP TEK #12 X 1-1/2” HEX 
WSHR HD
Hex Washer Head, Self Drill Screw Zinc, #12 x 1-1/2” (#3 
Pt. 5/16 Hd.)
10004583	 96206

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.2.11.1



SHIELD LAG LONG 3/8” X 2-1/2” USE 5/8” 
DRILL
3/8” Longx2 1/2” Lag Screw Expansion Shields Anchor 
Long Zinc Alloy
10004546	 70616

HEX HEAD LAG SCREW, ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10004514	 00110-2416-401	 1/4”	 1”
10004515	 00110-2420-401	 1/4”	 1-1/2”
10004516	 00110-2424-401	 1/4”	 2”
10004517	 00110-2426-401	 1/4”	 2-1/2”
10004518	 00110-2430-401	 1/4”	 3”
10004519	 00110-2440-401	 1/4”	 4”
10004520	 00110-2442-401	 1/4”	 4-1/2”
10004521	 00110-2520-401	 5/16”	 1-1/2”
10004522	 00110-2524-401	 5/16”	 2”
10004523	 00110-2526-401	 5/16”	 2-1/2”
10004524	 00110-2530-401	 5/16”	 3”
10004525	 00110-2542-401	 5/16”	 4-1/2”
10004526	 00110-2550-401	 5/16”	 5”
10004527	 486318	 3/8”	 1-1/2”
10004528	 00110-2624-401	 3/8”	 2”
10004529	 486336	 3/8”	 2-1/2”
10004530	 486344	 3/8”	 3”
10004531	 00110-2632-401	 3/8”	 3-1/2”
10004532	 00110-2640-401	 3/8”	 4”
10004533	 00110-2650-401	 3/8”	 5”
10004534	 486376	 3/8”	 6”
10004535	 00110-2664-401	 3/8”	 8”
10004536	 00110-2830-401	 1/2”	 3”
10004537	 00110-2832-401	 1/2”	 3-1/2”
10004538	 00110-2840-401	 1/2”	 4”
10004539	 00110-2842-401	 1/2”	 4-1/2”
10004540	 00110-2850-401	 1/2”	 5”
10004541	 00110-2860-401	 1/2”	 6”
10004542	 486582	 1/2”	 7”

SCREW MACHINE F.H. 6-32 X 2 SLT ZP
#6-32x2” (FT) Flat Slot Machine Screw Flat Head Slotted 
Zinc CR+3”
10012741	 54-626

N.2.12.	 Flat/Round Head Screw

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.2.12.1



MACHINE SCREW, SLOTTED ROUND HEAD, 
ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10012721	 410-0608-401	 #6-32	 1/2”
10012723	 00410-0624-401	 #6-32	 2”
10012724	 583305	 #8-32	 1/4”
10012725	 410-0808-401	 #8-32	 1/2”
10012726	 410-0812-401	 #8-32	 3/4”
10012727	 410-0816-401	 #8-32	 1”
10012728	 410-0820-401	 #8-32	 1-1/2”
10012729	 583363	 #8-32	 2”
10012732	 410-1016-401	 #10-24	 1”
10012733	 00410-1020-401	 #10-24	 1-1/2”
10012736	 00410-1024-401	 #10-24	 2”
10012735	 0410-1104-401	 #10-32	 1/4”
10012738	 00410-1112-401	 #10-32	 3/4”
10012734	 00410-1116-401SL	 #10-32	 1”
10012739	 410-1120-401	 #10-32	 1-1/2”

MACHINE SCREW, SLOTTED ROUND HEAD, 
ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10012722	 96098	 #6-32	 1”
10012730	 96122	 #10-24	 1/2”
10012731	 96123	 #10-24	 3/4”
10012737	 96128	 #10-32	 1/2”
10012740	 96133	 #10-32	 2”

BOLT DRAW F/ COUNTER TOP 1/4-20 X 
3-1/2” BX=500
1/4-20” x 3-1/2” Draw Bolt
10004606	 1/4”-20X3-1/2”

U-BOLT 1/2” IPS 304 SS 
1/2” Round Bend U-Bolt & 2 Nuts
10005790	 04SS 504140

N.2.13.	 U Bolts

N.2.14.	 Draw Bolt

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.2.14.1



SQUARE KEY STOCK, STEEL ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10007668	 SKS-1-8	 1/8”	 12”
10009763	 SKS-3-16	 3/16”	 12”
10009764	 SKS-1-4	 1/4”	 12”
10009765	 SKS-5-16	 5/16”	 12”
10009766	 SKS-3-8	 3/8”	 12”
10009767	 SKS-1-2	 1/2”	 12”
10009768	 SKS-5-8	 5/8”	 12”
10009769	 SKS-3-4	 3/4”	 12”
10009770	 SKS-7-8	 7/8”	 12”
10009771	 SKS-1-1	 1”	 12”

NAIL BOSTITCH 1.75 FC5DS0 BX=12000
.099”x1-3/4” Screw Blunt Chisel Coil Pallet Plus Wire Coil 
Nail Interchanges with Bostitch: N80CB
10004304	 FC5DS099BC-PP

NAIL SCRW SHNK .120 X 3 FULHD = 
S10DSFH BX=2000
28 Degree Clipped Head / Bright Framing S-Series 3” X 
120 Nails Interchanges with ATRO 679-5600
10004570	 ADS10DSFH

NAIL 16D BRIGHT COMMON 3-1/2” BX=50#
Common nail are used for Construction, Carpentry and 
Framing
10004400	 116027

N.3.	 Key Stock

N.4.	 Nails & Staples
N.4.1.	 Nails

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.4.1.1



STAPLES #P22 1/4” PK=5000
P22 Plier type staples feature 7/16” crown width and 1/4 
leg length.
10005445	 224

T50 STAPLES, 3/8” CROWN, BOX=1250
Part#	 MFG#	 Leg Size
10005438	 50424	 1/4”
10005439	 50524	 5/16”
10005441	 50824	 1/2”
10005442	 50924	 9/16”
10005440	 50624	 3/8”

STAPLES 3/4” IP #HT65S PK=2496
65 heavy-duty staples feature 1” crown width and 3/4 leg 
length.
10005446	 HT-65SIP

STAPLES 1/2”W X 3/4” DUO FAST BX=2500
Staples, 3/4” Length
10005806	 0010769 6524

STAPLE 3/8” SHNK 7/16” HD S.S. SENCO 
CA=120000
H-Wire Staples, 7/16” Crn
10004402	 H06BGA

JT21 STAPLES, BOX=1,000
Part#	 MFG#	 Leg Size
10005436	 214	 1/4”
10005437	 215	 5/16”

N.4.2.	 Staples

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.4.2.1



HEX NUT FINE GRADE 2, ZINC PLATED
Part#	 MFG#	 Size
10012746	 221-1000-401	 #10-32
10009890	 00201-2400-401	 1/4”-28
10009891	 00201-2500-401	 5/16”-24
10009893	 00201-2700-401	 7/16”-20
10009895	 319600	 5/8”-18
10009897	 00201-3200-401	 3/4”-16
10009900	 319675	 1”-14

N.5.	 Nuts
N.5.1.	 Hex Nuts

HEX NUT COARSE GRADE 2, ZINC PLATED
Part#	 MFG#	 Size
10012743	 220-0600-401	 #6-32
10012744	 325140	 #8-32
10012745	 325160	 #10-24
10012747	 00220-1200-401	 #12-24
10004471	 00200-2500-401	 5/16”-18
10004473	 00200-2700-401	 7/16”-14
10007878	 204-3000-401	 5/8”-11
10004477	 00200-3400-401	 7/8”-9
10004478	 00200-4000-401	 1”-8

HEX NUT GRADE 5, ZINC PLATED
Part#	 MFG#	 Size
10009871	 848050	 1/4”-20
10009872	 848052	 5/16”-18
10009873	 848054	 3/8”-16
10009874	 848056	 7/16”-14
10009875	 848058	 1/2”-13
10009876	 00206-2900-401	 9/16”-12
10009877	 848062	 5/8”-11
10009878	 848064	 3/4”-10
10009879	 00206-3400-401	 7/8”-9
10009880	 00206-4000-401	 1”-8

NUT ZINC PLATED GRD5 1/2”-20 BX=100
Grade 5 hex nut. Blue zinc finish. Type NF. 1/2”-20 size.
10009894	 848086

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.5.1.1



HEX NUT GRADE 8, ZINC PLATED
Part#	 MFG#	 Size
10013626	 240-2400-402	 1/4”-20
10013627	 240-2500-402	 5/16”-18
10013628	 306054	 3/8”-16
10013629	 240-2700-402	 7/16”-14
10013630	 306058	 1/2”-13
10013632	 00240-3000-402	 5/8”-11
10013631	 240-3200-402	 3/4”-10

NUT HEX HVY #0428839 1/2”-13
Heavy hex nut. Zinc finish. 1/2”-13 size.
10007785	 5100

LOCK NUT WITH NYLON INSERT, ZINC PLATED
Part#	 MFG#	 Size
10004842	 305009	 #6-32
10004845	 00250-0800-401	 #8-32
10004843	 250-1000-401	 #10-24
10004844	 305025	 #10-32
10004846	 305164	 1/4”-20
10004847	 305166	 5/16”-18
10004848	 305168	 3/8”-16
10000386	 250-2700-401	 7/16”-14
10004849	 305172	 1/2”-13
10004850	 0250-2900-401	 9/16”-12
10004851	 305176	 5/8”-11
10004852	 305195	 3/4”-10

LOCK NUT WITH NYLON INSERT, YELLOW ZINC 
GRADE 8
Part#	 MFG#	 Size
10013467	 00268-2400-402	 1/4”-20
10013465	 845200	 3/8”-16
10003596	 268-3000-402	 5/8”-11

N.5.2.	 Lock Nuts

WING NUT, ZINC PLATED
Part#	 MFG#	 Size
10004690	 863164	 1/4”-20
10004691	 00270-2800-401	 1/2”-13

N.5.3.	 Wing Nuts

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.5.3.1



TEE NUT, 3 PRONG ZINC PLATED
Part#	 MFG#	 Size
10004468	 00280-2410-401	 1/4”-20
10004469	 00280-2600-401	 3/8”-16

RIVET STL #S42-100 SHORT BX=100
Steel Rivet, Buttonhead, .063-.125” Grip Range
10004742	 86112 (84112)

RIVET STL #SB4-2 SHORT BX=500
Buttonhead Steel Rivet Long Size .0.275” Length Short
10004740	 40112

RIVET STL #S44 MEDIUM BX=100
Steel Rivet, Buttonhead, .188-.250” Grip Range
10004745	 86117 (84117)

N.7.	 Rivets

N.5.4.	 Tee Nut

RIVET STL #S46 LONG BX=100
Steel Rivet, Buttonhead, .313-.375” Grip Range
10004746	 86121

RIVET ALUMINUM #A42-100 SHORT BX=100
Steel Rivet, Buttonhead, .376-.500” Grip Range
10004741	 86212

RIVET ALUMINUM #A44-80 MEDIUM BX=80
Aluminum Rivet, Buttonhead, .188-.250” Grip Range
10004743	 86217 (84217)

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.7.1



RIVET ALUMINUM #A64 MEDIUM BX=50
Aluminum Rivet, Buttonhead, .126-.250” Grip Range
10004749	 86247

RIVET ALUMINUM #A46 LONG BX=100
Aluminum Rivet, Buttonhead, .313-.375” Grip Range
10004744	 86221

RIVET ALUMINUM #A66-50 LONG BX=50
Aluminum Rivet, Buttonhead, .251-.375” Grip Range
10004747	 86249

RIVET SET SM10-4556 
Straight rivet set designed with mod. Brazier AN456 
cupping style. .401” straight shank. Measures 3/16 dia. x 
3-1/2 OAL.
10007036	 CA1001-16

RIVET SET SM202-4556
Cupped squeezer rivet set with Brazier AN455 head 
features precision ground shank. Heat treated high alloy 
steel construction. .187” straight shank. Measures 1/2 dia. 
x 1/2” body length.
10007038	 CA2001-24

RIVET SET FLUSH SM97
Flush mushroom rivet set features .401” straight shank. 
Measures 1-3/4” dia. x 3-1/4 OAL.
10007040	 SM97

10” POP RIVET GUN 
Surebonder Heavy-Duty Rivet Tool with Sets 3/32”
10004948	 8500 TV244921

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.7.2



THREADED ROD, GRADE A 307 ZINC PLATED
Part#	 MFG#	 Diameter	 Length
10004660	 777011	 1/4”-20	 36”
10004661	 0170-2503-441	 5/16”-18	 36”
10004662	 171-2503-501	 5/16”-24	 36”
10004663	 170-2603-441	 3/8”-16	 36”
10004664	 0171-2603-501	 3/8”-24	 36”
10004665	 0170-2803-441	 1/2”-13	 36”
10004666	 00171-2803-501	 1/2”-20	 36”
10004667	 170-3003-441	 5/8”-11	 36”
10004668	 777071	 3/4”-10	 36”
10004669	 171-3203-021	 3/4”-16	 36”
10004670	 170-3403-441	 7/8”-9	 36”
10004671	 170-4003-441	 1”-8	 36”
10004672	 0170-2406-441	 1/4”-20	 72”
10004673	 170-2506-441	 5/16”-18	 72”
10004674	 777033	 3/8”-16	 72”
10004675	 0170-2806-441	 1/2”-13	 72”
10004676	 170-3206-441	 3/4”-10	 72”
10004677	 4501021	 1/4”-20	 120”
10004678	 450161	 3/8”-16	 120”
10004679	 450172	 1/2”-13	 120”
10004680	 0170-3010-021	 5/8”-11	 120”
10004681	 170-3210-021	 3/4”-10	 120”

N.8.	 Threaded Rod , Couplers & Hangers
N.8.1.	 Threaded Rod

COUPLING HEX NUTS, GRADE A ZINC PLATED
Part#	 MFG#	 Size
10004682	 0238-2400-401	 1/4”-20
10004683	 303031	 3/8”-16
10004684	 0238-2700-401	 7/16”-14
10004685	 303051	 1/2”-13
10015009	 303242	 1/2”-20
10004686	 238-3000-401	 5/8”-11
10004687	 303070	 3/4”-10
10004688	 0238-3400-401	 7/8”-9
10004689	 0238-4000-401	 1”-8

TOOL F/HANGER MATE VERTICAL ANCHORS
Recessed Drive Socket
10006916	 06792 ZE215

N.8.2.	 Coupling Nuts

N.8.3.	 Hangers

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.8.3.1



HANGER MATE F/WOOD 5/16” X 2-1/4” STR 
VERTICAL
Vertigo Hanger For Wood, 3/8-16 Accepts Rod, 2 Shank 
Length, Vertical
10007784	 WVH7165J

HANGER MATE F/WOOD 5/16” X 2-1/4” 
VERTICAL
Vertigo hanger for use in side mounted installations of 
wood. Includes tool. Accepts 3/8”-16 rod size. 2 shank 
length.
10007783	 WSH7170J

FLAT WASHER, ZINC PLATED
Part#	 MFG#	 Bolt Size	 Pack Size
10004707	 6064	 #6	 100
10004708	 96254	 #8	 100
10004701	 96240	 3/16”	 100
10004702	 P43002	 1/4”	 100
10004703	 96244	 5/16”	 100
10004705	 70559196246	 3/8”	 100
10004706	 12FWUSSZJ	 1/2”	 100
10004704	 6014	 9/16”	 50
10004699	 P43010	 7/8”	 25

FLAT WASHER, 5 LB BOX, ZINC PLATED
Part#	 MFG#	 Bolt Size	 Est. Qty.
10004692	 370-2400-401 	 1/4”	 745
10004693	 370-2500-401	 5/16”	 415
10004694	 6038	 3/8”	 335
10004695	 6040	 7/16”	 205
10004697	 6046	 5/8”	 65
10004698	 6048	 3/4”	 45
10004700	 6052	 1”	 26

FLAT WASHER, ZINC PLATED
Part#	 MFG#	 Bolt Size	 Pack Size
10013641	 353050	 1/4”	 Each
10013642	 372-2500-422	 5/16”	 Each
10013643	 353150	 3/8”	 Each
10013644	 00372-2700-422	 7/16”	 Each
10013645	 353250	 1/2”	 Each
10013646	 372-3000-422	 5/8”	 Each

N.9.	 Washers
N.9.1.	 Flat Washers

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.9.1.1



LOCKWASHER SPLIT 1/4”  ZY BX=100
1/4” Regular Split Lock Washers Alloy Thru-Hardened 
Zinc-Yellow
10013634	 340050

N.9.2.	 Lock Washers

SPLIT LOCK WASHER, ZINC PLATED
Part#	 MFG#	 Size
10004719	 00350-0600-401	 #6
10004720	 00350-0800-401	 #8
10004721	 349004	 #10
10004709	 349006	 1/4”
10004710	 851100	 5/16”
10004711	 349008	 3/8”
10004713	 349010	 1/2”
10004714	 349011	 9/16”
10004715	 349012	 5/8”
10004716	 00350-3200-401	 3/4”
10004717	 0350-3400-401	 7/8”
10004718	 0350-4000-401	 1”

LOCKWASHER PLATED 7/16” ZP
Non-link lock washer for use with 7/16” bolts. High grade 
spring steel construction.
10004712	 716LWZJ

SPLIT LOCK WASHER ALLOY, YELLOW ZINC
Part#	 MFG#	 Size
10013635	 00355-2500-40	 5/16”
10013636	 355-2600-402	 3/8”
10013637	 340200	 7/16”
10013638	 340250	 1/2”
10013639	 355-3000-402	 5/8”

FENDER WASHERS
Part#	 MFG#	 Inside	 Outside
		  Diameter	 Diameter
10013012	 96258	 3/16”	 1”
10013013	 96262	 1/4”	 1”
10013014	 96264	 1/4”	 1-1/4”
10013015	 P36205	 3/8”	 1-1/2”
10013016	 0380-2820-401	 1/2”	 1-1/2”

N.9.3.	 Fender Washers

www.summersindustrial.com800-634-6313        423-461-4700

N.
FA

ST
EN

ER
S

N.9.3.1



N.10.	 Thread Insert & Repair
THREAD INSERTS, BOX = 10
Part#	 MFG#	 Size
10004190	 329-4	 1/4”-20
10004191	 329-7	 7/16”-14

INSERT THREAD 1/2-13 EZ-LOK
E-Z Lok Steel - Coarse Self-Locking Thread Inserts, 
Imperial, 1/2-13” Internal & 3/4-10” External Thread Size
10004192	 329-8

www.summersindustrial.com 800-634-6313        423-461-4700

FA
ST

EN
ER

S

N.

N.10.1


